New Maths GCSE: A12 - Table of Values for different grap

What should replace the star?

B 20 B 5
@ o5 | 2

This is the table of values for y = 1x_u

What should replace the star?

B s g 40
B 2 B 25

This is the table of values for y = 1x_0

What should replace the star?

B s B 2
B 50 g 15

This quiz was created on www.diagnosticquestions.com.

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Correct Answer: ABCD
This is the table of values for y = 3x — 1

Explanation:
X -2 -1 0 It 2 |
y =1 I |
What ShOU|d replace the Star? --------------------------------------------------------------------------
. m -7 | e
-5 — 33 |

Correct Answer: ABCD
This is the table of values for y = 3x — 1

Explanation:
X -2 -1 0 1 2 | R
y O I | e
what Sh0u|d replace the Stal'? --------------------------------------------------------------------------
— @ —32 | s
4 =2 ] e —————

Correct Answer: ABCD
This is the table of values for y = 3x — 1

Explanation:
X -2 o | 0 il 2 |
y =1 o < T
What should replace the Stal'? --------------------------------------------------------------------------
31 O 5 | s
4 8 e ——————

Correct Answer: ABCD
This is the table of values for y = 4 — 2x

Explanation:
X -2 -1 0 i PRI |
y 6 I | e ——————————
what ShOU|d rep|ace the Stal'? ..........................................................................
- g o4 | e
—4 B
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This is the table of values for y = 4 — 2x

What should replace the star?

[ [ -
B 2 g o

This is the table of values for y = 4 — 2x

What should replace the star?

A 2 | 4
B 2 g o

This is the table of values for y = x? — 1

X -4 -1 0 1 3
y -1 0]

What should replace the star?

—-15 a -17
7 B 15

This is the table of values for y = x* — 1

X -4 -1 0 il 3
y -1 0]

What should replace the star?

B o g 1
B 3 B -2

This quiz was created on www.diagnosticquestions.com.

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Correct Answer: ABCD

This is the table of values for y = x? — 1 _
Explanation:

What should replace the star? --------------------------------------------------------------------------
- e —————
8 B 4 | s,
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